
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

4.466 × ________ = 446.6 1.421 × ________ = 14.21

3.002 × ________ = 300.2 3.693 × ________ = 3693

7.877 × ________ = 787.7 8.586 × ________ = 8586

9.87 × ________ = 9870 9.916 × ________ = 99.16

10.834 × ________ = 10834 8.607 × ________ = 8607

5.459 × ________ = 54.59 10.51 × ________ = 105.1

9.524 × ________ = 952.4 5.506 × ________ = 550.6

9.936 × ________ = 99.36 1.183 × ________ = 118.3

6.499 × ________ = 649.9 2.723 × ________ = 272.3

5.192 × ________ = 519.2 8.062 × ________ = 8062
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

4.466 × 100 = 446.6 1.421 × 10 = 14.21

3.002 × 100 = 300.2 3.693 × 1000 = 3693

7.877 × 100 = 787.7 8.586 × 1000 = 8586

9.87 × 1000 = 9870 9.916 × 10 = 99.16

10.834 × 1000 = 10834 8.607 × 1000 = 8607

5.459 × 10 = 54.59 10.51 × 10 = 105.1

9.524 × 100 = 952.4 5.506 × 100 = 550.6

9.936 × 10 = 99.36 1.183 × 100 = 118.3

6.499 × 100 = 649.9 2.723 × 100 = 272.3

5.192 × 100 = 519.2 8.062 × 1000 = 8062
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